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2N BUS
o SUS A

el FUNXEEH Ha2d

& LBESI AL JIEHS

N & 0l & At

g3 sUs

B AEX &

g & M A

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
SUHS 348,416 312,836 35,580
SUHs A &I 213,230 217,740 24,510
FOXIME WAE2Y & BHAANEXA 127,870 132,380 24,510
FOUNNEEHZY 85,000 85,000 0
201 Let24dy] 85,000 85,000 0
01 At 2teltl 85,000 85,000 0
OFUXXNHH2H 85,000,000 85,000
FOIEOALEX & 40,370 44,880 24,510
201 £B-2dH| 28,360 42,360 A 14,000
02 =224l 28,360 28,360 0
OEAMRBAZIHAIAEEEZ 155,000& 128 1,860
Oxg HzHl 2,500,000 2,500
OxedEEd=2d R AL 2,000,000 2,000
OAtS & 2teltl 22,000,000& 22,000
203 YR =2t 2,010 2,520 A510
03 Al =AY R =& 2,010 2,520 A510
OsHYRAMFA 2,010,000& 2,010
401 A& HIZ 201 I 10,000 0 10,000
01 A& HI 10,000 0 10,000
O3lola SMEBAH(S stz L dAF
2xEA) 10,000, 000& 10,000
HEUEE UE=0 A 29 2,500 2,500 0
201 £B-2d | 2,500 2,500 0
03 A2 S HI 2,500 2,500 0
O==01 SALZHI 2,500,000& 2,500
SclEtEas=2 4 85,360 85,360 0
SCIBEESsS2EH4XE 85,360 85,360 0
301 gL = 85,360 85,360 0
05 SE -0 -2 85,360 85,360 0
Os&E=+g 200,000& x22H 12 52,800
Os&ddd= 200,000& #x22H »23| 8,800
Os&3oaag 20,0003 x22H 23| x12& 10,560
Ot & sl 50,0003 «264H 13| 13,200
HYRIZH(SUHS) 135,186 95,096 40,090
olE2IH(BUS) 50,266 24,006 26,260
AFOAG(BUS) 50,266 24,006 26,260
101 14l 50,266 24,006 26,260
03 RIAHAZ2E = 50,266 24,006 26,260




2N SUS
BH: HHSIAU (BUS)
el A2 (BUS) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OFArZe2ELRY 50,266
-Jles 862,400 «2H « 12 20,698
-403 862,400 x2H 4 6,900
A2t =% 7,350 2 22A1 2t+ 122 3,881
5222 58,800 «2H 2 »12& 2,823
=g 39,2003 x2H 52 4,077
-GRSFIOE 39,2003 x2H «17L 1,333
A=) 10,349,000& x2H % 12% 2,484
-H MG A 80,000 «2H « 122 1,920
- S 2 X 60,0003 «2H «12& 1,440
-G E F Ot 862,400 x2H x60%*23] 2,070
-hEE 110,000& »2H 122 2,640
2B (BUS) 84,920 71,090 13,830
2zl (sUs) 84,920 71,090 13,830
201 YEr2 Y| 36,200 38,470 £2,270
01 AFS2t2l ] 12,200 14,470 A2,270
ORM2Y AMRE2HI(Z2E) 12,200,000& 12,200
02 =224l 24,000 24,000 0
OXIIRS 16,000,000& 16,000
O=ERER= 8,000,000 8,000
202 o4 Hl 20,640 22,920 A2,280
=L O I 20,640 22,920 A2,280
o= 1,440,000& 1,440
oJl2¢ ) 19,200,000 19,200
AR = 8,080 9,700 A 1,620
011224 5,280 6,600 A1,320
oJag 5,280,000& 5,280
AN H R = A 400 400 0
OFAtetg =HI 40,000 «10H 400
FN2SLERSF=EHI 2,400 2,700 A 300
ORMSII2FXHI(1521016t)
200,000 »12& 2,400
405 THEHH S 20,000 0 20,000
01 MY ESHS 20,000 0 20,000
osgdl 10,000, 000& »24! 20,000




